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1)

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)

7 2 1 0 ÷ 7 0 = 1 0 3
1·70=70

2
0·70=0

2
1 3·70=210

0

b)

9 1 5 9 ÷ 4 3 = 2 1 3
2·43=86

1·43=43

1
3·43=129

0

c)

3 7 2 0 ÷ 3 0 = 1 2 4
1·30=30

6 2·30=60

2
1 0 4·30=120

0

d)

8 1 3 4 ÷ 8 3 = 9 8
4 9·83=747

4 8·83=664

2)

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)
3 7 2 ÷ 6 1 =
3 6 6

6 b)

5 9 8 ÷ 2 7 =
5 4

5
5 4

4

c)

9 4 6 ÷ 9 1 =
9 1

3
0

3 6

d)
3 4 0 ÷ 5 4 =
3 2 4

1 6

3)

Divide using the long division method. Fill in the blank spaces with the correct
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numbers.

a)

8 9 4 ÷ 4 5 =
1·45=45

9·45=405
b)

1 6 2 ÷ 5 4 =
3·54=162

c)
6 2 0 ÷ 7 6 =

8·76=608 d)

8 9 6 ÷ 5 6 =
1·56=56

6·56=336

4)

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)

2 6 0 1 ÷ 2 4 = 1 0
2 4 1·24=24

2
0·24=0

0
1 2 8·24=192

b)

6 4 4 1 ÷ 5 7 = 1
5 1·57=57

4
5 7 1·57=57

7
7 3·57=171

c)

6 6 7 4 ÷ 9 4 = 7
7·94=658

9
9 4 1·94=94

d)

2 4 8 4 ÷ 4 6 = 5
2 0 5·46=230

8 4 4·46=184

0

Good Luck!
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